gbooooboooooogooboo

000 Jaa00000000000000000000( (@) | () [poooo

e 0000000000000 array0 00000000 1000000000000000000 array0000
000000 (x) POODO000000array0000000 (b) 00[ (9 [pOODODDDOOOO
ooo

oDDDDDDDDDDDDDDDDDDDDD’ (d) ‘DDD’ (e) ‘D’ (f) ‘DDDDDDDDDDDDDDD
0Doo| () pODDOO0O0| () PODDOOOODO00O0000000 (g [POO0OO0

O00o00o0oU0oU0oOooooooogl (h (D0O0D0D400)0000000O0O0OO0O| (h) DOOOOO
0| () 000000l () DUOO0U00O00O0O0U0O0D 0000000000 O0O0O0DO0ODO0O0UOOO0O0DDOO
oooooogl (h) pO0O0OO0O0OO00O0OU0O0OO0O0OO0OO0OOOOooOOooDogl (k) [poOooOOOOO0ODOOO0OO
ooooooog) () |pooooo

oDIZIDPartsDDDDDDDDDDDDDDDDDResistorDDDDDDDDDPartstDDDResistor
00D000000000000000000( () [D00000000000[ (o) poOoo

00000 (D0000o0o0Uo0)000o0o0U0o00o000o00oU0O00DooO0oU0ooOOooDoOooooO (ooo
00000)0o0o0ooooooooog| (p) [pooOo

DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD“DDDDDDDDDD )
000000000000000000000

0000000000000 0000000000000000000000000000000000000000
00000000 0000000O000 NOOOOOOOOO NQDDDDDDDDDDDDDmDDDD

0O NlogQNDDDDDDDDDDDDDMDDDD

ugob boobooboobobobobbobooboobooboobobbooboon

(0)oooDOoUODODOOoDOOOO

(0) D000 O0OD0O0O0OUOO0ODOOO0OO// p2.printWeight(); 0//00000000O00OOOOOOOOOO
ooogo

(0) (0)0000000000000
(0) 00000000000 00000000000000000000000000

class Pasocon {
int cpuType;
int memorySize;
int hddSize;
Pasocon(int cpuType, int memorySize, int hddSize) {
this.cpuType = cpuType; this.memorySize = memorySize;
this.hddSize = hddSize;
}
void printInf() {
System.out.println("cpuType = " + cpuType + " memorySize = " + memorySize

+ " httSize = " + hddSize);
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class NotePasocon extends Pasocon {

double weight;

double lcdSize;

NotePasocon(int cpuType, int memorySize, int hddSize, double weight, double lcdSize) {
super (cpuType, memorySize, hddSize);
this.weight = weight; this.lcdSize = lcdSize;

}

void printInf() {

System.out.println("cpuType = " + cpuTlype + " memorySize = " + memorySize
+ " httSize = " + hddSize + " lcdSize = " + lcdSize);
}
void printWeight() {
System.out.println("weight = " + weight);
}

class Kimatsu2 {

public static void main(String[] args) {

Pasocon pl = new Pasocon(1l, 16, 2000);

Pasocon p2 = new Pasocon(2, 8, 1000);

Pasocon p3 = new NotePasocon(4, 4, 300, 1.5, 13.3);
NotePasocon p4 = new NotePasocon(6, 4, 500, 2.3, 15.4);
NotePasocon pb5;

p2 = p3; p5 = p4;

pl.printInf(Q);
p2.printInf();
p4.printWeight () ;
p5.printInf ) ;

// p2.printWeight();
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class FNumber {
int nume, deno; //00 000
FNumber (int nume, int deno) {
this.nume = nume; this.deno = deno;
}
void reduct() {
if (nume == 0) {
deno = 1;
} else if (nume < 0) {
int gcd = GCD(-nume, deno);
nume /= gcd; deno /= gcd;
} else {
int gcd = GCD(nume, deno);
nume /= gcd; deno /= gcd;

}
int GCD(int a, int b) {
(a) ;
(b) ;
(c) ;
(d) ;
(e) ;

return a;
1
void add(FNumber x, FNumber y) {
nume = x.nume * y.deno + x.deno * y.nume;
deno = x.deno * y.deno;
reduct();
}
void sub(FNumber x, FNumber y) {

nume = X.nume * y.deno - x.deno * y.nume;

deno
reduct();

}

void mul (FNumber x, FNumber y) {

x.deno * y.deno;

nume = X.nume * y.nume;
deno = x.deno * y.deno;
reduct();

}

void div(FNumber x, FNumber y) {
nume = X.nume * y.deno;
deno = x.deno * y.nume;
reduct();

}

boolean gt (FNumber x) {

return (nume * x.deno - deno * x.nume > 0);



void print() {

System.out.println(nume + "/" + deno);

}

class Kimatsu3 {
public static void main(String[] args) {

int N = 6;
FNumber fn[] = new FNumber[N];
fn[0] = new FNumber(2, 3);
fn[1] = new FNumber (1, 2);
for(int 1 =2 ; i < 6 ; ++i) fn[i] = new FNumber(0, 1);
fn[2].add(fn[0], fnl[1]);
fn[3].sub(fnl[0], fnl[1]);
fnl[4] .mul(fn[0], fn[1]);
fn[5].div(fn[0], fn[1]);

for (int k =0 ; k < N - 1 ; ++k) {

(£)
for (int 1 = (g) ; LN ++1) {
if ( (h) )) maxInd = 1;
}
(1) ;
fnlmaxInd] = fnl[k];
fnlk] = t;
}
for (int i = 0 ; i < N ; ++i) fn[i].printQ;
}
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(a) double array[] = new double[10];
(b) arayl[0]

(c) aray[9]
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(f) O

(g) 0000000

(h) DOODO

(i) 0D
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(k) a

(1) this.a

(m) OO (inheritance)

(n) Resistor

(o) Parts
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cpuType = 1 memorySize = 16 httSize = 2000

cpuType = 4 memorySize = 4 httSize = 300 lcdSize = 13.3
weight = 2.3
cpuType = 6 memorySize = 4 httSize = 500 lcdSize = 15.4
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(a) while(b > 0) {

(b) int res = a % b;

(c) a = b;
(d) b = res;
(e) ¥

(f) int maxInd = k;

(g) k + 1

(h) fn[1].gt(fnlmaxInd])
(i) FNumber t = fn[maxInd];
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